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Two different positions of the
same dice shown here. Select the letter

that will be on the face opposite to the
one showing the letter

Qasur-ﬁ%a‘fﬂaﬁ.qw%@%ﬁmﬂa
ST =T & 3T 2 —_—

1S
\(/f/F (b) A (c) E (d) B
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Two different positions of the
same dice are shown. Select the number

S that will be on the face opposite to the
, face having numbe@

T Ul %??ﬁuaﬁqm%l@%sﬁuﬁa
| 2 S =T 3 ST 2
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COMPLETE [{ 01118 COURSE (For all govt. exams )

Two different positions of the
same dice are shown, the six faces of
which are marked by the letters A B, C,
. E and F. Which letter will be on the
face opposite to the one showing 'D'?

s g8 & o) ua fay 7Y @LOTH U 3{&R A,
B, C, D, E, F for@ gu & (D ) fagdia &1+

HT 3{&5 31QTT ?
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Two different positions of the same
dice are shown. Assuming that the sum
of opposite faces 1s an odd number,
select the number that will be on the face

é opposite to the one having the number
'2'. U U & 41 ug fau e ¥ | 98 A 8¢

&1 fagdla & 3fpl BT oiis faus H=

- e, 9are #1(2) & fAudia 1= 91 3i 81 2
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Two different positions of the same
dice are shown. Select the number that

@ oA ( )a will be on the face opposite to the one
having @ if the number on the face
opposite to '3’ is odd.

3> X oA e urd @ &) uRfeE] @ i ¥ (O
faudia @19 91 3ip g afe 3. & fAudid us

’r
(a) 1 (}% (©)5 (d)3
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z—aa%m@ on @)
T
| = either @ o ®
6 eithe, @) or®)
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Two different positions of the
same dice are shown. Select the number

that will be on the face opposite to the

one having '6'.
Qa?tné%?a’tuaféqwglaraiai
faudla =1 91 3 3mEa 2

(a) 5 (b) 1 (c) 4 \)ﬂé
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Two different positions of the
same dice are shown. Select the number

that will be _on the face opposite to the
one having

U Bl OTHT &6 & e -3 T 2 g
g1 I _dEm @1 waq HY ot (o ) &
faodla sy gz 8|

(a) 6 \y{s ©1 (d)2
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on the face opposite to the one showing

0.
TS Bl U I & a3 & 718 T | I
&1 BT "9 B ol (6)F fAuda gag w=

3{TEIT 2
‘-"
[\
(a4 1 (b) 4

(c) 3 (d) 5
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.Three different positions of a dice
are shown. Select the letter that will be

he face opposite to the one having

T U & O ug IGLERG
aﬁqmafmaﬂwn?qm%\*

CE

SHE (b)F (c)D (d)C
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Three different positions of the
same dice are shown. Select the letter

that will be on the face opposite to the
one having 's'.

(a)a (b)f ¢ (d) d
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Three different positions of the
same dice are shown. Select the number

that will be on the face opposite to the
face having numbcr@

Us Ui & o9 ug AT e § | s & fagda
&1 =T 3ih TUI 2
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COMPLETE [T X0 I8 COURSE (For all govt. exams )

By VIKRAMJEET SIR

Three different positions of the
same dice are shown. Select the number
that will be on the face opposite to the

face showing the number '1'. / T Qi &1
ﬁq%ﬁm&"tﬂ% fRAofia S =T
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COMPLETE [N L8 COURSE (For all govt. exams )

Three different positions of the
same dice are shown. Select the number

that will be on the face opposite to the

one havin

Us U & di4 g fag e 7 | <50 & faudia

H 19 9T 3iap 3T ?
(a) 4 l (c)6 (d)3
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When the below given diagram is folded in the shape of a cube which
symbol will face opposite to ‘A’ ?

mﬁmmmﬁwémﬁﬁgm%?ﬁaﬁﬁmm@%
faudta grm?

CGL Mains, 26/10/2023

‘“’D | (b)O u)/v (d) D
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The different positions of the same dice are shown. Find the number
on the face opposite the face showing ‘4’.

€ e et @oté v #1CaJewtt ot o @ i o

(e¥S (b) 5 ()2 )6
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The different positions of the same dice are shown. Find the number
on the face opposite the face showing ‘4’

@ﬁ@ﬁm—mﬁmﬁmfﬁ:@éﬂ?%lmﬁmﬁm%ﬁuﬁa
Weleh U7 W1 A9 ShifSU)

@s_” (b2 (c) 1 ()6
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Three different positions of the same dice are shown. Find the number
on the face opposite the face showing ‘S’.

ek &1 UTH hi o1 W—mﬁaﬁﬁﬁ@ﬁﬂé‘%@wﬁaﬁm%ﬁm
Theleh U7 W& AT shifSU)

CGL Tier-I, 14/07/2023 (Shift-4

(c)3 (d)4
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Three different positions of the same dice are shown. Find the number

on the face opposite to the face showing ‘S’
Uk &1 UTH ahi &4 31T- wﬁwﬁﬁﬁ@éﬂéﬁl@wﬁmﬁm%m
Theleh U7 H@&AT AT ShifSAU)|

,@' o

Fig. 3
T e 3 @ GL Tier-I, 17/07/2023 (Shift-3

(a) 6 (b) 4
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Three different positions of the same dice are shown. Find the number
on the face opposite the face showing '3'.

Uk &1 UTH =kl o m-mfmﬁu’fﬁaé@%‘n@awﬁﬁm%ﬁmﬁa
WhceTeh 7 WE&AT A9 Shifs0)

CGL Tier-I, 19/07/2023 (Shift-1

(c)S (d)2
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Three different positions of the same dice are shown. Find the number
on the face opposite the face showing '3'.

Ueh &1 UTd R 4 m—mﬁaﬁﬁﬁr@ﬁn’é?l@aﬁaﬁm%ﬁuﬁa
Tholeh U7 WE&AT ATd shifSU)

Figure-1 Figure-2 Figure-3

20 S —\
T GL Tier-I, 19/07/2023 (Shift-4

M . (b) 6 (c)S (d)4
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Three different positions of the same dice are shown. Find the number
on the face opposite the face showing 1'.

wﬁmﬁmwwmz.@mma@mﬁm
szﬁﬁlﬁu@r%”

Flg‘ure 1 Flg'ure 2 Flgure 3
| = GL Tier-1, 20/07/2023 (Shift-2

(a) 3 (b) 4 (c)6 W2z
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Three different positions of the same dice are shown. Find the number
on the face opposite the face showing '2'.

@ﬁmﬁmwwm%@mﬁmaﬁmém
ToTeh U7 ShiA-UT W& &2

L__
(a) 4 > (b) 3 (c)6 A5

CGL Tier-I, 21/07/2023 (Shift-1
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Three different positions of the same dice are shown. Find the number
on the face opposite the face showing '3'.

sk £ urd i A fafuw Rt watta $1(3) vahin F A wems @ faui
Feleh UT ShiF-Hl W& §7?

CGL Tier-I, 24/07/2023 (Shift-3

(a) 4 “ :1/ (b) 2 (c)6 \/mf
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1, 2, 3, 4, S and 6 are written on different faces of a dice. Three
different positions of the same dice are shown below. Find the number
on the face opposite to the one showing '4'.

U U & fafi= wemnt w1, 2, 3, 4, 5 30 6 forar gam €1 uw €1 ud & =
m-m%ﬁﬁﬁ@@ﬂéﬁnaﬁméﬁuﬁamm
W& AT shifsy)

GL Tier-1, 26/07/2023 (Shift-1

(c)5 (d)1
Download RG VIKRAMJEET application for complete course.




COMPLETE m COURSE (For all govt. exams ) BY VIKRAMJEET SIR

Two different positions of the same dice are shown, the six faces of
which are numbered from 1 to 6. Select the number that will be on

the face opposite to the one having ‘4’?

U E U i A - feafaar fam w8 €, fa o et w1 | 6 a
mW%ummﬁWﬁm%ﬁWmmﬁ?

@ ﬂé’
HSL Tier-1, 09/03/2023 (Shift-3)

(a) S (b) 2 (c)1

Download RG VIKRAMJEET application for complete course.



0007 1A AREASONINGERI LS AR I R Ao 3] sy VIKRAMJEET SIR

Three positions of a dice are given below. What will come on the face
opposite to the face containing ‘4’ on it?

ﬁ@v@aﬁaﬁﬁsﬁaﬁaﬁﬂéﬁ'lm%ﬁuﬁammw

(/Mﬁ (d)R
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Two positions of a dice are given below. What will come on the opposite
faces of the face containing ‘S’ on it?

ﬁ@@ﬁﬁ%ﬁﬁﬁ@%l@a@m%ﬁmmmw

CHSL Tier-I, 10/03/2023 (Shift-4)

(b) 6 (c)1 \(})/
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Which of the following figures can be formed on folding the given
open cube in the question?

wvA o fau 0 @S 7u wA o ured uv fAfafEa O 8 SE-0r s a9 gendr 82
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A cube is made by folding the given sheet. In the cube so formed,
which letter will be on the face opposite to the face showing ‘B’ ?

&1 T2 9T SRl WISeRT Ueh O =140 T §1 36 Uah &4 99 W, ‘B’ S9IA aTel Gieleh
& fauiia weres uv -\ A&7 §O?

CHSL Tier-I, 13/03/2023 (Shift-3

T (b) C ()R (d)G
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Three different positions of the same dice are shown. Select the symbol
that will be on the face opposite to the one having ‘«@’?

e Ueh E U’ it dF 3rerT-are frafaan ke guitar war €1 3w fagm = g

CHSL Tier-1I, 14/03/2023 (Shift-1

(c)& (d)#
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By folding the given paper, which of the following box cannot be
made?

ﬁqmmaﬁm,ﬁmﬁﬁaﬂﬁﬁaﬁm—mm@wmmm?

HSL Tier-I, 14/03/2023 (Shift-3

(@) Jﬂ{ @ (e) (d)@
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Two positions of a dice are given below. What can come on the adjacent
faces of the face containing ‘K’ on it?

Hrer Us Uty i 31 fegfaat € w2 #) KR Al etk o 3THS WheTeh! U SR 31T

TRl 872
A MDD (BRI

CHSL Tier-I, 14/03/2023 (Shift-4

}()A and(H)
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Which of the following
option will represent the
given dice when this dice is
closed?

frafafeaa & 9 F=-ar fawey
fau oy & wiaffae som
W 39 U & G e smar 272

o fR) »(s
(3 &
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N

M|N|TJR

Which of the following
option is correct?

-1 fawea TEt 272

<
.d,
: ,
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If 2 is opposite to 3 and

2 s 3 adjacent to 4 and 6, then
which of the following
statements is true?

afg 2, 3 & faufia € 3iv 4 3w
6 & @Hg &, af Frefafaa & |
HA-AT HIT T &7
(a) 1 is adjacent to 5
1, 5 &% faufig #
(b) 4 is opposite of 6
4, 6 & faufa &
(c) 4 is adjacent to 2 and 6
4, 2 31T 6 & |HT T
(d) 1 is adjacent to 2 and 3
1, 2 3iT 3 & wdg T
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In a dice, each face is numbered as follows.

Uk UTH W, Uedeh Weldh ohl T %9 ¥ WEATeRa faram mar £
(1) 2 is adjacent to 3 / 2, 3 & WiA=ke %)

R—M _~12) 3 is opposite to 4 / 3, 4 & faufm ¢
ol .~ 13) S is oppositeto 1/ 5, 1 & fauf@a &
S— (4) 6 is adjacentto 3 / 6, 3 & WiAhe &
é —2 Which of the following statement is definitely correct?
! frafafea & @ ®F-w w97 Ffvea wu 4 o= 272

- .
R UPSI, 01/12/2021 (Shift-2)

“"2".3 e-—}ﬂ2isbetween1and3/2,13ﬁ'¥3?ﬁﬁlﬂﬁ'§‘l
)@) 2isadjacentt06/23ﬁ'{63ﬁm%l)0
2—(’?)->€ t,\(p)/3isbetween2and6/3,23f7763l\=a°mﬁ"§

LYe Y — (}m4isbetween3and5/4,33ﬁ15‘éﬁﬁ1ﬂﬁ'§‘/ \JS"/C

\ (a) D (b) A (c) B
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In a dice, each face is coloured as follows:
F_\/ Uk UTH U Uedeh Woleh ohl 39 WehlT T T4 &:
(1) Purple is opposite to violet / 7T & faufia s+ €
@_(.-—— EQQCk (2) Brown is opposite to black / ‘iﬁ & fauf| e £
o B L*QB) Orange is opposite to blue / I & fauda rew 2
O Which of the following is definitely wrong?
f o @ @m-ar fvfea w9 7 s €7

UPSI, 22/11/2017 (Shift-2)

) Violet is not adjacent to black and borwn
i, FE AT 9 B whE T A
L/(ﬁ Blue is adjacent to violet / FieT, 9T+ & WfdAhe T
._,(e‘)/Orange is adjacent to brown / AT, ‘i{? & Wiaehe 7
L/(-B)/Black is adjacent to blue / e, il & WiAwHe €

(a) B (b) D ey A @ c
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In a dice, each face is marked as follows:
U UTH W, Uk Woleh 3@ WahT 3tfeRa €

(1) C is adjacent to B / C, B & dfaahe %)
(2) B is opposite to D / B, D & faufia %\
(3) E is opposite to A / E, A & faufia 21
(4) F is adjacent to B / F, B & Wiaehe £
Which of the following is definitely correct?
frmfafEa o wm-wr ffvea wu @ @ 872

N2 2, UPSI, 30/11/2021 (Shift-3)

B(’ C‘*A e—% C is between A and B / C, AaﬁTBEﬁEﬂaﬁtl

—>D
e — A
F — C

C is adjacent to F / C, F & Wfaahe 2

E‘" B—’C Q—MmbetweenCandF/B C3T F =& da o ¢l
(D) D is betweenBand E/ D,B3T E & &9 ¥

(a) B (b) D ey C @ A
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In a dice, each face are coloured as follows:
Ush Ut U, Uedeh Wioleh okl 39 WahT 10T T §
e P (1) Violet is opposite to purple / 7+l & faufia s+ 21
|?ﬂ"5k — G\,(qa (2) Black is opposite to gray / W«2l & fauiia =mren 2
(3) Orange is opposite to blue / T & faufi|a wiew §
O¥ — %{ Which of the following statement is definitely wrong?

—

frefafaa o @ FF-91 %97 ffvea w0 9 srms 877

UPSI, 23/11/2021 (Shift-2)

)ﬂ Violet is@ adjacent to black and gray.
AT, T 3T Wl & WideRe TET B
(B) Blue is adjacent to violet / e, &7+ & WA T
(C) Blue is adjacent to black / e, i1 & WiAehe &

(D) Orange is adjacent to gray / ST, Weidl & WiAhe ©

(a) B (b) D sV A ) c
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Which of the following will this cube match with when opened?

Wl 91 U7 9g 99 W o 9 foeuss g e @mo?




